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Use your Periodic Table and Ion List and calculator to answer questions on this quiz.

i 5[ tetrafluoro sulphide | cannot exist }
s That compound has { _nonpolar covalent | ionic | indeterminate } bonds

' 6 and its shape will be { straight | stz{:J) spherlcalq é‘;ram@) flat | cube | bent } .

(-————" Sulfur’s oxidation state must be { +14 | +6 +2 |+1 0| -1 |2]|-4|-6]|-14}
because fluorine’s will be { +14 | +6 | +4 | 2 | +1 | 0@—2 | 46|14} .

e
2. Forming a compound from magnesium combining with sulfur:

a) Magnesium’s oxidation state will be { +12 | +8 @ +1 | +12]0 | 1| 2] -8 -12}
b) Sulfur’s oxidation state will be { +16 | +8 | 25 [ +2 | +1 | 0| -1 2 25| -8 -16 }
¢) Its bonds will be { covalent non-polar | ‘covalent polar )| ionic | non-existent }

e d) the compound’s formula will be "V\g\s and should be named "\ cu,, NLSTUM S &ld&i

l q \x €) its molecular mass will be 5(0,31. 1@ /£24 51 + 37 0/73
N
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3. Forming a compound from nitrogen combining with calcium:

a) Nitrogen’s oxidation state will be { +14 | +7 | +I’%O | +2 ] +1 |0 | -1 | =2 @| ~7 ] -14 }
b) Calcium’s oxidation state will be { +40 | +20 @J 1[0 -1 2] 20|40}
¢) Its bonds will be { covalent non-polar | covalent polar @ | non-existent }

\ l O\ d) the compound’s formula will be ij 2 N2 and should be named COJ cium N, tride
' €) its molecular mass will be /l/f’tga% @,\ l';ow slc-p\s! | <7) * L—\O 08 + l* ‘4 Ol\ 9
ww
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4. forming a compound from magnesium combining with nitrate:

a) magnesium’s oxidation state will be
(424 | 412 | 43 32 +12 | +1 10| <1 | —12 | 2 | =3 [-12 | 24 }
b) nitrate’s oxidation state will be { +9 | +4 | +3 | +2 | +1 | 0 O 2| 3| 4|6}
‘ l(/ d) the compound’s formula will be P{E;j‘r\f& | and should be named aﬁnebll«'m () nitwmte .
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e) its molecular mass will be 145,3“)_?-;‘_’&{ S@ (ZL‘ 21 + 2*[,4 o1 +73. ﬁlG])
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